All India Trade Test - 2024 for Crafstmen Training Scheme (CTS)
Trade Name: Machinist Year 2
Year: 2nd Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)

3. There is no negative marking

Max Marks : 150

Sr. | Client Question
No. ID

1 What is the part marked as X?

X & U H Rifgd v g2

Trade Theory

_Al Face

Lol

WIS

A3 Heel O—

&

_A4 Cutting edge V

FHad YR

S
{\2 Flute ‘Q

Trade Theory

2 Which i ¢ positive drive of the drill from the drill spindle?

B FHRIHD Tl 1 B 1 feeqm Giifar s 82

{\1 Shank
Rica

AZ Tang

Sl

{B Neck

T

A4 Point angle

féig @

Trade Theory

Question Body and Alternatives

3 Which area/part the diameter and other particulars of the drill is engraved?

& &1 o ok o faaRor fra/m & Sapivf 81a &2

Marks

2.0

2.0

Negative
Marks



fM Shank
Eica

f\Z Tang
=l

,AS Neck

&

64 Face

oy

Trade Theory

‘Which milling machine is suitable for helical milling?

Bftrea il & forg i ot e weiia Suged 32

fM Horizontal milling machine

.AZ Universal milling machine

53 Pantograph milling machine @Q‘

Yo fafeh w=ii
.A4 Vertical milling machine
SR fofer mei= (_ PAY
Trade Theory « ‘
Calculate the real module in helical gear the pitch diameter (PD) is 100 ber of teeth 19. 2.0 0.00
TaeR R o arafde Aisda &1 T0H1 &3 fOrd &g (g 100 Tl 1 T 19 B

Al'500 mm | /(\
' N\

5.00 fr.of (b
A2
R%

0.19 mm
: /
0.19 foref )

A3 5 26 mm O.

5.26 o .

fM 20 mm V

20 foret

Trade Theory

Which f gear is used for high speed running and heavy duty gear drives? 2.0 0.00

3R B et R 3139 & R iy TR & R o1 SuanT fobam e 22

:Al Spur gear
TR R
f\Z Helical gear

TeeR R
:A3 Angular gear

Py R

54 Worm and Worm gear

I IR o fireR

Trade Theory

What is the name of the reamer used with several sizes of reamers in with one shank? 2.0 0.00

T Qb b 1Y B3 DR P JAY T T1Y IuAIT fbT ST aret SR 1 18 1 82



Al Adjustable machine reamer

TSoReTd 7Y IR

62 Reamers with floating holders

IR fay vt gesd

3 Shell reamer

BISEEEN

A

64 Chucking reamer

BT IR

Trade Theory
Which is general safety in CNC turning? 2.0

TroTeh = & e Re P W@ 2

Al

- Do not use non standard tools / holders
R TP IUGRUT/ YR BT STANT T HY &

.AZ Check the voltage and current %
Jrees R BT B A B

53 Check the chuck function

b eI b1 Siid by
A4
. Check the programme control levels v

FRIcHH AT WR &1 S B PO A
Trade Theory « ‘
What is the safety check on the CNC machine after start? 2.0
HIHTA & TG TR R UR FR&f Sifd o1 62 O
fM Check the chuck function ¢ /( \
' . - v N
TP HaRH B Sl DY (O
A2 Check the voltage and current
: g o« /
e 3R FC B Ol B \)
AS Check the hydraulic tank oil leve
HESIREEG R RN IR
A4 Check the clampin, %
FAfhT R
Trade Theory
2.0

What is of machine system?

I T 82

MANS3IMS 103




Al Convention
L Rkl

2 Auto tool changers

e IUDHRY URadid

A

f“ Numerical control
T g
64 Computer numerical control
e GHRS Rz
Trade Theory
‘What is the first step to stop CNC machine if an accident happen while working?

BT B G [t gele & B IR i 7=fi= 1 At & oy us e ded | 2

fM Switch off regulator

.AZ Press emergency switch %
SMUTATer & gamy

53 Reset machine

EERIERIREERN

.A4 Reset regulator v

s 3 9 7 OX

Trade Theory « ‘

Which motor control the axes of CNC machine? 2.0 0.00

ol 727 & 21l B I T Hex Ffa s a2 O§
A\
N\,

fM Air motor

’ v
- 9

A2 .

. DC series motor ‘Q /

A3 O

.~ Servo motor

[l Hiex

A4 Hydraulic motor V

HEEIRCE

Trade Theory
Which nism reduces the back lash of CNC lathe? 2.0 0.00

TRIE P I AL P HH BT 82

,Al Stopper

1%

®IR
AZ Clutch
Gt

,A3 Recirculating ball screw with nut

SedafdTaasg e F Y

54 Break

ger

Trade Theory

Which guide way separate the surface contact between the sliding parts by a thin layer of fluid? 2.0 0.00

A YT P T Ul TR gRT ST HIN & o9 Tdg & U B 3T B & T P 1 ME S diehT 82



fM Flat guide way
T MES A
f\Z Vee guide way
Vee TS 3
:AS Hydrostatic guide way
TSRS MEs d
fM Dovetail guide way

SaeaMIS d

Trade Theory

What is the role of G-words in part programming function?

T URMTAT thaR § G-words &t &1 W%”

fM Preparatory function

.AZ Sequence of operation by the tool %
JUHRT GRT HATTH B SHH

53 Indicate position of tool motion

T ARM $T Hobd RUfd

.A4 Specify the cutting speed process v

e @ i Ufsear Ay e (AI \

Trade Theory « ‘

Which is the method in avoidance of collisions due to programme?
FRIHH F HRUI TP Y S B I T dRIpT 72 O

fM Full cycle simulation L ‘ \

v
4

v N
o S \(,‘O

.~ Reduce motor speed /

TR B T 7 B \)

{\3 Give less feed

FABIS S

A4 Reduce cutter speedV
HeR et Q
Trade Theory

What is xpansion of MDI in CNC? 2.0 0.00

IS BT IR =182

,Al anual Data Input

AYg3re STeT 37Ye
62 Managing Diet Instruction

3eR Az vEy

'A3 Maintain the Data Instruction

ERIECRICE IS

54 Machine Development in Industry

e B =i e
Trade Theory

What is the mode to check the effectiveness of the program? 2.0 0.00

PTIhH B GHTGRRA B ST P S T A |17



20

21

22

20

21

22

Al Dry run

IR
f\Z Jog mode
STHS
:AS Edit mode
Hure Hrs

64 Single block mode

RiTrel silep His
Trade Theory
How many axes in the CNC lathe machine? 2.0 0.00
CNC &Y TR & fora SuaiT 82
. D

. Two axes x and z

<l el x 3R 2 &
:A2 Three axes X,y,z

GG Gf&'ﬁ X,Y,Z %
?A3 Multi axes more than three

et feff i 1 3ifie
A

. 4 Vertical and Horizontal v

JyaieR 3R afaer (AI 1

Trade Theory « ‘

‘What is the meaning of open loop and closed loop?

SO U 3R TS U P T A o7 O:
AN
o

fM These both are programmable date

Y 1 AT P AN AR ©

52 These both are two types of control system&@achines
AT e w2 € UpR B W B

{\3 Data collecting systems

ST dhaiae REeH

A4 Data storage systemV

EekPH
Trade Theory

What is as absolute co-ordinate point? 2.0 0.00
- TIEe P SHTUR T 7?2

,Al Based on the last point entered

o U Y Sifam fig & SR R
Al

. 2 Based on the origin(0,0)
T (0,0) b MUR W
,A3 Based on the work end point

P ofd foig F MR R

54 Based on the tool geometry only

FHad gd A & SMUR W)

Trade Theory
What is 'O' indicates? 2.0 0.00

o "FaT T-faT &7



TUN41L2027

A

! The center axis
By 3l

:AZ The origin

qa

53 The reference point
T fag
A4 The position of work table

T Sl B! Rfa

What is the directional value of X and Y?

X 3R v BT fexieres A g
Y
X
[[]
{XY]

TUN4ILGR2E

A% Y both in Negative

X Ry gl Fifea &
fM X and Y both in Positive

X 3R Y i urefifeq

What is the maximum range of spindle speed?
iz ifa & sifirdwan 9 ® 32
AT 1209
120%
‘,Az 90%

90%



25

26

27

28

25

26

27

28

A3 100%

100%
A% 50, only

5% only
Trade Theory

How much maximum feed range available on CNC machine? 2.0 0.00

CNC H2H TR a1 SiehaH Bis Yo Sueisy &2

A

! The maximum feed range 5%

BT WIS AT 5%

52 The maximum feed range 75%

Sfermad Wi WM 75%

63 The maximum feed range 100% ’
HfYHTH WIS AT 100% &

A4 The maximum feed range 120%
SHfYHTH Wis AT 120 % %
Trade Theory
Which one of the following code is suitable for spindle rotation in clock wise direction? 20 0.00

fofafad o @ HF 91 seiearsy i3 7 fRisd & gaa & fow Sugad &2
Al Mo O~
MO02 ( y AR

MO3

S

A2

MO05

MO5 >
54 MO04 %
« /

v Trade Theory

Which mode is used to edit the progr: 2.0 0.00

ORI ®1 TfSe B & for fpe o 2SN

A3

MO04

.Al Jog mode
ST S

A2 Edit mo

mode
MDI HS
?A4 Auto mode
e A
Trade Theory

‘Which mode we can input the program command manually? 2.0 0.00

T TS &) g4 ford s & Hg3id TU W S7YE HR Udhd 82

Al Auto mode

e A
{\2 Jog mode

STHS



A3

.~ MDI mode
MDI 41
64 Edit mode
Tfec A8
Trade Theory
29 29 Which mode the program will be executed continuously one block after another block? 2.0 0.00

5 HIS R UMM &1 s i & 91G AR 3 sclieh U TRIRIC [T Sem?

fM Jog mode

A

_Az Auto mode

i Ars

Edit mode
et A
:A4 Manual mode

e A %

Trade Theory
30130 Which of the following feed back devices can sense both speed and position? 2.0 0.00

e # ¥ oF T wis 9% fasyg iy ok fRufer S &) g I 82

_Al Resolver - bN

A €J 5

A3

52 Tachometer

e\
A3 ?ﬂjﬁ ; 24 >O
= ‘Q(O ’

. Motor /
e '

Q Trade Theory
31 31 What is the purpose of MDI mode? 2.0 0.00

MDI AIS &7 3520 172

Al QV
. For program e n
w ferg

62 Mo axes by manually
A3 U J ga P

Cross checking of the program graphically

Tthes T Y WU &1 b1y AT

A3

64 Editing of programmable Data

T 3T &1 JuTe

Trade Theory
2 32 Which mode is used while loading / unloading the work piece in CNC machine? 2.0 0.00

CNC H2fF 7 g UG &) s / 3 B GH g 7S &1 IuaiT famar Sirar 82

fM Simulation mode
Reger s
_A2 Automatic mode

e His



3 Jog mode

ST S

Edit mode

e Ars

A4

33 33 What is the indication of "M'?

M *1 b T 32

Trade Theory
2.0 0.00

TUNSIL2C47T

! Machine zero point
T SR aige
Work piece zero point

EEAIACINIEr

Tool zero point

A2

A3

TA SR Ulge

4 Machine reference point

A Rey Uige

A

Trade Theor

34 34

Al

A2
7 V.S.A cm’/mm

V.S.Acm’/

( E rev/min

V.S em?/min

V.S em?/min

35 35

! G00x42.0z0.0F 0.1
G00x42.0z0.0F 0.1

AZ G02x42.0z0.0F0.1
G02x42.0z0.0F0.1
:AS GO01x42.0z0.0F0.1

G01x42.0z0.0F0.1

What is the formula for calculating metal re

B'cﬁarﬁa?(wﬁm$ﬁmgaw%?0
V4

Which one of the program block may suitable to move the cutting tool 'x' axis 42.0 'z' axis 0.0 with the feed of 0.1 mm?

0.1 foredt Y Wi F W1y BT T ' 3181 42.0 'z 3181 0.0 Y RIFTART B I AT B |1 YR Sl 8 Thall 82

moval rate Q) 5 2.0 0.00
«

Trade Theory
2.0 0.00



36

37

38

39

36

37

38

39

A4 G03x42.0z0.0F0.1

G03x42.0z0.0F0.1
Trade Theory

What is the indication of 'z' axis in CNC lathe machine?

CNC T 7R 12 318 T Tobd T 82

fM The length of the component
FIHC B AR

{\2 The center axis of the component

FHHC B Hg e

53 The radius of the component

HHe & B

,A4 The diameter of the component

FHHIHE B A
Trade Theory

‘Which property of cutting tool has ability to withstand various cutting forces during machining?

HiT ga B 5w et & w3 SR I e Tl o TrT 3 oF & gicit 82

Al Toughness

THIY

52 Hardness . v

[ERR

f\3 Brittleness e\
few O
N

?A4 Softness | ,( S

RICEER f

2.0

‘Which type of tool material is non metal? S/

39 UBR 1 e HRTT 31Tg 32 \)

_Al High speed steel
BT wis &

52 Carbon steel QV

PHrET

Ste

_A4 1amond
SHHS
Workshop Calculation Science

Which type of stress?

P ufEa 82

2.0

2.0

0.00



40

41

42

40

41

42

WECN25L1Q11

_Al Tensile stress

GEICRIREL]

62 Compressive stress

{\3 Shear stress
ELERYGER]

54 Torsional stress

ERERRIGES

What is the unit of strain?

Pl sl PR e

Al

. Kg/cm2
Kg/cm2

A2

. Newton/metre?

Newton/metre>

63 Metre
Metre
64 No unit

No unit

Which symbol is used to expi

W@ﬁuﬁaﬁqﬁé@

AlL

f

I
A4
A e

What is the name of the structure formed, if a steel is heated for about 723°C?

Workshop Calculation Science

€J 5

e\
z}O
<2

: Workshop Calculation Science

ange in length? 2.0

EIGIER

Workshop Calculation Science
2.0

I LT BT I T 8, TS T bl 723°C TR T fobam STl 82

fM Cementide

.AZ Austenite

0.00



f% Martensite

AR
64 Ferrite

e

Workshop Calculation Science

88 Which hand book referred by machine engineer? 2.0

TR eifeR R fAfde gaer g

A

! Parry's cheorikal

W FRFa

CRC

Temeft

A2

_A3 Mark standard &

TS Wose
_A4 Oxford Dictionary )

SHTFIPIS Tead I
Workshop Calculation Science

44 44 ‘What is the name of a booklet, the rates of various terms are indicated?

GRRTeT 1 T 1 B, e = &3 &1 Gobal fea s &2
O~

€J 5

N\

fM Price bank

e 3%

:AZ Price bunch O E
S

HA =T
?'\3 Price tag /
e &P
«

A 7/
. Price catalogue \) .

Engineering Drawing

45 45 The Included angle of pipe thread'is asound 2.0

U=y IS 1 T iR g

Aliso

15°
.A% 3
53 10°

10°
.A4 75°

75°
Engineering Drawing

46 46 Pipe cutting die is generally 2.0

U0 Hie 8T8 AR R
?M divided in four parts.
IR U B fauora

2 individed

0.00

0.00



AU
§A3 divided in three parts
A HRT A fafsra
:A4 divided in two parts

ERIREICHIEG)

Engineering Drawing

47

47

Which symbol is used for butt joints?

e Siige & fore fow e &1 v o oiren 22

Al

A2

A3

A4

G

AN

2.0

0.00

Engincering Drawing

48

48

Which syml gor lap joint?

SEKSIE Rieret 1 U fobam SiTa 82

e%

2.0

0.00




A4

Engineering Drawing

49

49

This type of section is limited by a break line

TUTPR BT TH SH A% gRIHa B %

1 .
removed section

BTN TTT SFHTT

A2 .
revolved section.

TR SFHTT ?\
53 broken-out section

CCT-geT SIgHIT

208,

,A4 half section O
ST STHTT !

m&_ 77D

50

50

Objects that are symmetric can be shown effectively swype of section
wwﬁﬁwwwwm?@ [k H foraman o gahd |

Al quarter section
e ST O’

A2 fll section

ol S \/
‘53 half section

3T
A4 . .
3 ric section

SRR

2.0

Employability Skills

51

51

Use the correct preposition to complete the sentence I will meet you the 3rd week January
Use the correct preposition to complete the sentence I will meet you the 3rd week January

fM on, at

on, at

{\2 at, of
at, of
A3
. aton
at, on

64 in, of

2.0




in, of
Employability Skills

5252 Neighbourhoods may be based on people, location, strengths and weaknesses. 2.0 0.00
Neighbourhoods may be based on people, location, strengths and weaknesses.

! described
described
2 included
included
3 explained
explained

4 separated

separated (b
Employability Skills
53 53 Which one is an active voice verb? 2. 0.00

Which one is an active voice verb?

! Wil be learned :E )

Will be learned
.'/\2 Learn

Learn

Is listened —~ v
Is listened ) \

4 Was listened

A3

Was listened

54 54 Which one is a passive voice verb? 2.0 0.00

Which one is a passive voice verb?
Al Write

Write

2 Express Q
Express @

3 Was written

Was wr1tten§

55 55 Fill up the blanks with suitable words so as to become a meaningful sentence 2.0 0.00
"Tell us about a difficult situation you have and how you to come out of it."
Fill up the blanks with suitable words so as to become a meaningful sentence
"Tell us about a difficult situation you have and how you to come out of it."

Employability Skills

1
face, manage
face, manage
2
managed, face
managed, face
63 faced, manage
faced, manage

_A4 faced, managed



faced, managed

56 56 Miscommunication can lead to.....

T GG ——-- P 3R A S el 2

.Al Build relationships

ey T

2 Create misunderstanding
TAdBEH! et

3 Successful planning
GENRICE

A4 See effective results

THTeT aiRor de

57 57 What is required for effective communication?

TUTE fdTe & fore m sfraas 89

Al Keep Listening

G e

A2 Keep Talking
EIRCRES]

Listen and talk carefully

T Y G SR a1 R

A3

A4 Listen carefully

& A g

Employability Skills
2.0 0.00

Employability Skills &
2.0 0.00

O

Empl(yalxlny &]ls

58 58 What is stress?
G TR

E_dn N 20 000
&<

Al Feeling of joy v
TG B HIGAT O’

2 Feeling of surprise

sy & \/
A3 Feeling ofm

‘.A eling of frustration/disappointment
YIGE BT HIGAT
Employability Skills
5959 When a worker contributes to bring the best output by using the available resources, the worker... 2.0 0.00

e Ueb bl SUeTs TG 1 STAN] e GaTaH 3MIeYe o & AveH el 8, ol 68

Al productive

Idladh

A2 pad

RENES

3 ineffective

ST

4 selfish



60

61

62

63

60

61

62

63

it
Employability Skills

Communication plays a very important role in

TG AR — H Hgeaqul 4T Furd &

1 our personal lives
G Sita &
2 our personal and professional lives
TR AT SR i sitad &
3 our professional lives

TR IR Sfig

our future lives

AR HiTS & Sitg &

A4

Employability Skills

In social media, we use ------------ to convey our feelings and emotions.

TfRrare Hifgar & g7 U WA 3R Sy Bl e B P g

fM bodily movements

RN fafadt
2 cye contact
e F TuH

A3
. gestures

i AL

Emplgal:?ﬁw}@ F y

Emojis are used according to ==------

SR &1 TN AR - & STIR Bl g \Q?

Al Gur educational levels O\‘)
TR A TR

2 our professional levels

ey \/

A3 " 4
7 our moods o ns

n\we are happy

RIS

Employability Skills

We use emojis when

A SHIS BT STANT d8 B ¢ ...

! we are bored

TASRT M

2 words are not enough to express our feelings

TR HIGHIST &1 e B b [o1Y T1eg Wi el 81a &

3
we are lazy

THA 31T 3MTIET ]

_A4 we do not want to think

< %‘
A4 emoiis \O

2.0

2.0

2.0

0.00



T e I aTed §
Employability Skills

A person’s ability to understand and manage emotions properly is called.......

i3l B Siep ¥ G 3R USid B3 3 Ay ) emdi ... HEl Sl gl

Al Intelligence

gefere
f\Z Artificial intelligence
nfépiRisr s
63 Emotional intelligence
$Hlyd g=fre

A4 split personality

e gdiferd)

Employability Skills

A person with high emotional intelligence has

I SHeet 3 foror aTel oafeR & U Bl

Al physical strength

RN Wl
A2
.7 ego
&iysn O~
€J 5

53 lot of positive qualities

4P FHRIES 01 é
fM lot of negative qualities O

R THRTES 0 /4
Emplgal;?ﬁwﬁ y y :7:7 f yr o
‘When something good happens to us, we feel
TS GHR 1Y TS ST 11 & ol o B E
Al 4 itated O\‘)
[ECEELE]

2
angry

. ;QV
A3 . .
7 negative em € anger
A

positive emotions like happiness

Sft TH RIS UG
Employability Skills

If we do not learn how to control , it can spoil relationships.

e 59 e e Ud § b -1 ) Feifd o3 8, o) 399 Fdy favrs 9o 71
:Al laughter
Rl

A2
anger

Py
A3

people

i

4 others



3}
Employability Skills

68 68 What is the process of formally introducing oneself called?

Y BT TS T J URed 3 31 Ufha &Y - Hed o

1 self-introduction
W-ufag
A2 hiring

3 ..
decision

fofa
4 seeking

JrorT

Employability Skills
69 69 A quick summary of yourself is called an............
T MY & Th AR IRRI BT ... FEI G

Al
. angry tone
@hdm

2 casy speech

St _ O~

A3 elevator pitch

‘:A4 emotional talk O

Emplga‘m'l?tyﬁ
70 70 The most frequently asked question in an interview ig. ..

mﬁmmaﬁwaﬁaﬂw%

Al your feedback O\‘)
3BT Blsd

A2

tell me about yourself

s AR A \/
where do youli

A yO mily background
el SIS
Employability Skills
71 71 Things one must not follow while attending an interview....
e H R 5 T U B 1 &

Al being confident
SISl g

2 giving a firm handshake

ot ¥ 8Ty firamn

3 greet and thank formally
3eaie F0  3ifare iR SMHR e Y

A4 laugh loudly




SRAEH

Employability Skills

72 72 Everything about a person on the internet like profile on Facebook, Twitter and Instagram is called.....

Facebook, Twitter GHT Instaagram UR Ih":b—lgﬁ FIA AT S IR 3?@3 IR IUdex Ty aﬁ\—rﬁ Ea ---ﬁ?f %

1 networking
Feafdn

2 online profile or digital footprint
HTTeTe Mwrs a a1 fefored gefiie
3 internet

g

4 . .
social media

Tifrere wfgar

Employability Skills
73 73 Identify the professional networking platform from the given options..

fou e Reped o ¥ awfie Jerafdh wewd ugam | . E

fM Facebook
Facebook

2 snapchat

snapchat v

.A3 LinkedIn ( Jd >

LinkedIn ‘

A4 WhatsApp O
Whatsapp \;

Employability Skil]s Y F 7y

7474 When a person is given information about how he/she i ds Jimg.in an cffort to reach a goal, it is called...

ot GieT qo Ugen & U T 98 T R 5T ot e ) THBRT S &l a1 HEd 7.

o /
Al verification '

\
w3
:A2 feedback

Biga®

argument Q

A3
dged @
.A4 'g%

75 75 Feedback is important because...

wiess Tyl § Fifes

Employability Skills

! it is given for improvement

Ig GUR & forg fear wmar @
2 it is given for discouraging

I8 galied $a & for for omar 8
3 it is negative

TG TSRS §

4 it is disappointing
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Machinist - 2nd year (Eng) SET 3

Question Number

Correct Alternative position

1 A3
2 A2
3 A3
4 A2
5 A3
6 A2
7 A3
8 A1
9 A1
10 A2
11 A2
12 A3
13 A3
14 A3
15 A1
16 A1
17 A1
18 A1
19 A1
20 A2
21 A2
22 A2
23 A3
24 A1
25 A4
26 A2
27 A2
28 A3
29 A2
30 A3
31 A2
32 A3
33 A1
34 A2
35 A3
36 A1
37 A1
38 A4
39 A3
40 A4
41 A2
42 A2
43 A3
44 A4
45 A2




46 A4
47 A3
48 A1
49 A3
50 A3
51 A4
52 A1
53 A2
54 A3
55 A4
56 A2
57 A3
58 A4
59 A1
60 A2
61 A4
62 A3
63 A2
64 A3
65 A3
66 A4
67 A2
68 A1
69 A3
70 A2
71 A4
72 A2
73 A3
74 A2
75 A1
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